Homework/Extension
Step 7: Find the Total

National Curriculum Objectives:

Mathematics Year 2: (2M3a) Recognise and use symbols for pounds (£) and pence (p):
combine amounts to make a particular value

Mathematics Year 2: (2M3b) Find different combinations of coins that equal the same
amounts of money

Differentiation:

Questions 1, 4 and 7 (Varied Fluency)
Developing Identify the odd one out when finding the total of 2 or 3 different amounts of
money, including multiples of 5. Written amounts are supported by images.
Identify the odd one out when finding the total of the different amounts of

money, including written amounts and some images.

Identify the odd one out when finding the total of the different amounts of
money, including written amounts and some images. Includes multiple coins of the same
value.

Questions 2, 5 and 8 (Varied Fluency)
Developing State whether a statement is true or false when finding the total of the different
amounts of money, including multiples of 5. Written amounts are supported by images.

State whether a statement is true or false when finding the total of the different
amounts of money, including written amounts and some images.

State whether a statement is true or false when finding the total of the

different amounts of money, including written amounts and some images. Includes
multiple coins of the same value.

Questions 3, 6 and 9 (Reasoning and Problem Solving)
Developing Explain whether a statement is correct when finding the total value of the
written amounts, including multiples of 5. Written amounts are supported by images.
Explain whether a statement is correct when finding the total value of the written
amounts.
Explain whether a statement is correct when finding the total value of the
written amounts. Includes multiple coins of the same value.

More Year 2 Money resources.

Did you like this resource? Don’t forget to review it on our website.
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Find the Total

1. Which is the odd one out?

&

Lucas May Vaishu

50 pence 20p 10 5
pence

&

¢ i
HW/Ext

True or false? He spent £1 and 35 pence in total.

¢ S
HW/Ext

3. Vera and Ezra have both been given their pocket money.

N
| think | have the most pocket money

because | have a 50 pence coin and a 20

pence coin. )

~

| think | have the most pocket money
because | have a 1 pound coin, a 50 pence

coin and a 20 pence coin. > .

Who do you agree with? Explain why.

W
HW/Ext
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Find the Total

4. Which is the odd one out?

pounds £5 £9

Y Y
HW/Ext

5. Jan went into a shop and bought 3 items for her school bag.

20
pence

e 17p

True or false? She spent £5 and 27 pence in total.

Y 4
HW/Ext

6. Tamzin and Kang have both been given their pocket money.

N
| think | have the most pocket money

because | have £2 coin, a 50 pence coin

and a 20 pence coin. )

N N
Tamzin | think | have the most pocket money .
because | have a £1 coin, a £2 coin and a
50 pence coin. >

Who do you agree with? Explain why.

W
HW/Ext
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Find the Total

7. Which is the odd one out?
' 3 5I

O .3 ®
~— ' —
Al
Betty Louis David
2 five- 6 ten-
0 1 pound £5 >0 pence| £10
pence pence .
notes coins

VF
HWY/Ext

8. Lewis went into a shop and bought 3 gem stones.

1 five- 3 twenty-
pound pence
note coins

True or false? He spent £6 and 14 pence in total.
VF

HW/Ext

9. Gina and Ira have both been given their pocket money.

~
| think | have the most pocket money
because | have a 5 two-pound coins, a 50
@'@ pence coin and 2 twenty-pence coins.
: J
Gina | think | have the most pocket money

because | have a 1 pound coin, 4 two-pound
coins and 1 fifty-pence coin. ~

PIAN
Ira

Who do you agree with? Explain why.
RPS
HW/Ext
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Homework/Extension
Find the Total

Developing
1. May is the odd one out. Lucas and Vaishu both have 35p, whereas May has 70p.

2. True
3. Ezra is correct because he has £1 and 30p and Vera has 70p.

Expected
4. Glenn is the odd one out. Tara and Henna both have £12, whereas Glenn has £1 and

22p.
5. False. She spent £5 and 37 pence.
6. Kang is correct because he has £3 and 50p and Tamzin has £2 and 70p.

Greater Depth

7. Louis is the odd one out. Betty and David both have £10 and 80p whereas Louis has £7
and 70p.

8. False. He spent £5 and 73 pence.

9. Gina is correct because she has £10 and 90p and Ira has £9 and 50p.
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